Scenario f\L, > |f\I}’ < fEl < < fR<
Vs =7TeV

(f%, £y 1096 (0.91) | 0.29 (0.37)

(fy, fF) | 0.88(0.89) 0.11 (0.16)

(f5 Ry | 0.94(0.91) —0.077 (-0.067)  0.046 (0.053)
(f%, f&, fR) | 0.95(0.91) 0.16 (0.22) | -0.074 (-0.065)  0.037 (0.055)
(f5, £, fR) | 0.94(0.89) | 0.24(0.29) 0.087 (<0.076)  0.040 (0.064)
Vs = 8TeV

(fL, Ry | 096 (0.92) | 0.24 (0.29)

(fv fr) | 0.91(0.92) 0.15 (0.18)

(fl, fR) 1 0.92(0.92) ~0.041 (-0.050)  0.060(0.048)
(f%, f5, fR) 1 0.93 (0.94) 0.070(0.12) | —0.049 (-0.067)  0.080 (0.066)
(. [, f1) | 0.95(0.95) | 0.18 (0.20) ~0.035 (-0.044)  0.043 (0.032)
Vs =7 and 8 TeV

(f%, f2) | 0.97(0.92) | 0.28 (0.31)

(fy, fr) | 0.92(0.92) 0.10 (0.14)

(fo, fR) | 0.94(0.93) —0.046 (-0.050)  0.046 (0.041)
(f%, f&, fR) | 0.98 (0.97) 0.057 (0.10) | —0.049 (-0.051)  0.048 (0.046)
(f5, %, fR) 1 0.98(0.97) | 0.16 (0.22) ~0.049 (-0.049)  0.039 (0.037)



